> A:= (Ua-Ul)/RI+ (Ua-U2)/R2 + (Ua-U2) *s*CI =0
Ua— Ul Ua— U2

] A= o 4 (Ua—U2) s C1=0 @
> B:= (U2-Ua)/R2+U2%s*C2=0
p=—YetU2 | 1hca=0 @)
i R2
> solve(B, Ua)
U2(C2R2s+1) 3

> solve(A, Ua)
U2sCIRIR2+ U2RI +UIR2

sCIRIR2+RI+R2

_ U2sCIRIR2+U2RI+UIR2 _
> = sCIRIR2 +RI+R2 U2(C2R2s+1)
_ U2sCIRIR2+U2RI+UIR2 _
¢= sCIRIR2+RI+R2 U2(C2R2s+1) ®)

(C))

> solve(C, U2)
Ul ©6)
i CIC2RIR2S +C2RIs+ C2R2s+ 1
(6)
> —_—
Ul
1
2 )
i CIC2RIR2sS +C2RIs+C2R2s+1
> combine( 1/((s*T)"2 +C2*(RI +R2)*s+ 1), power )
1
> )
i CIC2RIR2s +C2 (RI+R2)s+1
> T:=sqrt(CI C2RIR2)
i T:=+CIlIC2RIR2 )
> I >
C2(RI+R2)s+ (sT)"+1
1
10)
] $T°+C2 (RI+R2) s +1
> o-T=C2- (Rl +R2)
oy CIC2RIR2 =C2 (RI +R2) 11
> o = solve((11), o)
o = C2 (RI +R2) 12)
Vv CI C2RIR2

1
S2T2—+—OC'S‘T+1

> with(DynamicSystems) :
Cl == 160e—12;
C2 = ClI,
RI = 15e3;




R2 = 15e3;
Cl :=1.6010"1
C2:=1.6010"1°
RI = 15000.
i R2 := 15000. 13)

> sys := TransferFunction| — I
ST+ as T+ 1

Transfer Function

continuous

Sys = 1 output(s); 1 input(s) a4

inputvariable = [u/ (s) ]

outputvariable = [y (s) ]
B BodePlot(sys)
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